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[1] Answer the following questions. (&} 30 %)

(1) The result of genetic exchange between homologous chromosomes is called recombination.
It is measured by the frequency of recombination (z). What are the minimum and maximum
values of r? (10.8) .

(2) A rare completely recessive all?le of an autosomal gene is causing a genetic disease
in humans. Approximately one in 10000 newborn babies is affected by the disease and
die. What is the frequency of heterozygotes for that gene? Assume that the population
is in Hardy—Weinberg s equilibrium. (10 &) ‘

(3) A population including 20 individuals of a diploid organism was established on a
completely isolated island. What is the probability. that an autosomal gene present in
one of those individuals becomes fixed? Assume that there is no selection. (10 &0
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sERFMAE (full-sibmating) DHEITH X HILA 3 L& LEXRE LEREOHARE G,
SERFMRE 1T 5 BMOMNRE 6. UBEOHRE G, 6. RT LT3, ZDOLXO&EE
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qies | SPESIEDDEEND | i n R L I E Ui i B A RO
RSB MEARR L
AA Aa aa AAx AA| Al xAa | AaxAai Aaxaa|aax aa| ALl x aa
Ad x AA 1/16 1/16 0 0 1/16 0 0 0 0 0
AA x Aa 1/4 1/8 1/8 0 1/16 - 1/8 1/16 0 0 0
Aa x Aa (7) () ’
Aa x aa
aa X aa
AA x aa ()
Total 1 1/4 1/2 1/4 ()
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(1) FHREBRERTO CEBEFOEEEZRDZIV, 6 7)

(2) FHRORBEME Hardy-Weinberg T H DI NE I DRI A4 ZRBERZFE - TRELL
Vo ZBHBAE1IRLT2 O CEFTAEN 3.84 RS, 99 ZHRX HHEZRIT0.05 THD.
(10 &)

(3) ZOFERNIL, CORRERTO CEEFORHHEELZMRAL 22X, (6 A)




